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(5) 8¢ = 8 + b¢/p = 0.001143 m + 0.003056 m
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(b) Pac = 60 kN Psp = 30 kN

(c)

_ PacLac " [‘60(103) N](0.300 m)

04 = = —286(107
A AcEq 7(0.010 m)*[200(10°) N/m?| (107) m
= ().286 mm |
Post BD:
PgpL -30(10*) N](0.300 m
5y = —BDTED _ [-30(10°) N|( ) R

 AgpEy  m(0.020 m)}{70(10%) N/m?)]
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400 mm
or = 0.102 + (0.184 = (.225 Ans.
F mm + ( mm)(600 mm) mm | Ans
600
0.102 mm A A m;&, - B
5 0.102 mm
.
(0.184 mm
0.286 @
286 mm

Ugaz L y20 160mm? oo yc alade 13 p gk ¥l (e Asyle : (3) U uics
Loylall O (o yis Ainylall ST g i)l cswle E=70 Gpa sl 131, Ay9xa

35kN 15 kN 30 kN 10kN

0.8m Im 0.6m

A= 160mm
E= 70Gpa

6 =7
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35kN 1S kN 30kN 10kN
2 0.8m - Im . 06m
A= 160mm
Z Fy=0 E= 70Gpa
§=2
35kN P1
P1=35kN (+Tension)
P2-35+15=0 35 kN 15 kN P2
P2 =20kN (+Tension) N
P3-10=0 P3 10kN
P3 =10 kN (—Comprssion) G
Pl — 35 kN (+Tmsiﬂn) 35kN 15 kN 30kN 10 kN
P2 =20 kN (+Tension) o . om
P3 =10 kN (—Comprssion) a -
PL
8= Z—
AE A= 160mm?
1 E= 70Gpa
d = EZ PL §=12
8§ = 10° [35(0.8) + 20(1) — 10(0.6)]
" (160x1076)(70x10%) o —10(0.6)
4 =0.00375m
6 = 3.75 mm|
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Bronze
A = 450 mm?

3P d

0.6m

iz

O JL:_u_l' 11
Aluminum Steel
A = 600 mm? A = 300 mm?

— 2P

Im 0.8m

ZFX:U

P,—3P=0
P, =3P (—compression)

P,+P—-3P=0
P, =72P (—compression)

P, —2P=0
P, =2P (+Tension)

o, = 140 Mpa E. = 200 Gpa
o, = 80 Mpa E, =70 Gpa
o, = 120 Mpa E,, = 83 Gpa
Bronze Aluminum Steel
A = 450 mm? A = 600 mm? A =300 mm?
v G ——
0.6m 1m ~ 0.8m
g, = 140 Mpa E; = 200 Gpa
o, = 80 Mpa E, =70 Gpa
oy = 120 Mpa | E, = 83 Gpa

3P—> ;— Py
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P, = 3P (—compression) Bronze Aluminum steel
A = 450 mm? A = 600 mm? A =300 mm?®
P, = 2P (—compression) 3p _rm > 2P
P, = 2P (+Tension) ‘ o6m im  08m

Based on allowable deformation: % = 140 Mpa | E, = 200 Gpa

0, = 80 Mpa E, =70 Gpa
5_ZPL oy < 120 Mpa | Ey = 83 Gpa ‘
L AE
0,002 — 1 [—BP(O.G) 2P(1)  2P(0.8)
T (1079 (10%)L 450(83)  600(70) ' 300(200)
~ P ~3(0.6)  2(1) 2(0.8)
0-002= (10—6)(109)[450(83) T 600(70)  300(200)

P =-28.9 kN
‘P =28.9kN (Contraction)‘

Based on allowable stresses.
P=c4
Bronze:
3P = (120x10°)(450x107%) = 18 kN

P, =3P (—compression)
P, = 2P (—compression)
P,=2P (+Tension)

. o, = 140 Mpa | A = 300 mm?
Aluminum: 0, =80 Mpa | A= 600mm?
2P = (80x10°)(600x10 ©) = 24 kN o, = 120 Mpa | A = 450 mm?
steel:
2P = (140x10°)(300x107%) = 21 kN P —289kN (Contraction)|

use the smallestvalue of P,

P =18kN
Moy 139 C uie 3,8 dha sl gy cnilimdin cnidys criussle: (5) Wl
2 15) | KN 50 g ae] 25 a0 2 3¥9all dslall Dy A e Hulada
C sl e 5,5
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ﬁ E. = 200 Gpa
A

= 300 mm?

I —3m 50 kN

—

1.5m

ﬁ E. = 200 Gpa
A

= 300 mm?

L —3m 50 kN

e
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ZM =0 E, = 200 Gpa
D A = 300 mm®
L=3m kN
C,(4)-50(2) = 0 2m | om
Cy =25 kN % 3m 15m
ZMA =0 50 kN
25(4.5)-T,(33)=0 | 2m l 2m ‘_Dx
= F
T, =37.5kN c,,| TDy
€, =25kN
Ts '
Ax | L
A)’l 3m 1.5m
T, =37.5kN i 00t
L=3m sulkN
PL 2m 2Zm
8, =2 B Cn d
im 15m
5 = 37.5(3x10%)  kN.mm ¢, =25 kN
s 300(200) N 2 Ty I
mm2 -t Ax ’l' ,
A},l 3m 15m
é‘s =1.875mm
y. 1.875 3Im 1.5m
45 3 \I{lh
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